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ExRAREEANRALRZERME
Bfr. sHx/AN/A
Fe | ExRmx AR | Pai iasE ME | mt | AR
= REEH
1 8- F1| ¥ 7T 2200 1900 1900 1800 1700
2 B i T 2300 2100 | 2100 2000 1800
3 EH . in 2000 1800 1800 1600 1500
4 HAoih KPS E R IT - 2000 1800 1800 1600 1500
— JEH
1 KR ETT 1800 1500 1500 1300 1200
2 B3k £JC 1800 1500 1500 1300 1200
3 HER £7T 1800 1500 1500 1300 1200
4 RERHET % 1800 1500 1500 1300 1200
5 BT 2R B FI| £ 1400 1000 1000 800 700
6 A6 B i X£JT 1400 1000 1000 800 700
7 BET £JT 1400 1000 1000 800 700
8 PRV B £ 1400 1000 1000 800 700
g ERHT £ 1400 1000 1000 800 700
10 J& HFI ¥ £ 1400 1000 1000 800 700
1] £ Wi /R £ 1400 1000 1000 800 700
12 RJEHT %I 1400 1000 1000 800 700
13 R %£JT 1400 1000 1000 800 700
14 N £ 1400 1000 1000 800 700
15 R LA L. ¥in 1400 1000 1000 800 700
16 FFEJLAT X£TT 1400 1000 1000 800 700
17 ZE ET 1400 1000 1000 800 700
18 JE R £TT 1400 1000 1000 800 700
19 #1584 £JT 1400 1000 1000 800 700
20 10 il X TT 1400 1000 1000 800 700
21 NIRE %7t 1400 1000 1000 800 700
22 itk £ 1400 1000 1000 800 700
23 JINLRI2 E£TT 1400 1000 1000 800 700
24 pnE:; X0 1400 1000 1000 800 700
25 InE e 1400 1000 1000 800 700
26 P A uiike o £t 1400 1000 1000 800 700
27 M E %5 1400 1000 1000 800 700
28 BEZD E5T 1400 1000 1000 800 700
29 Rl e 1400 1000 1000 800 700
30 FILLT £ 1400 1000 1000 800 700
31 Ok hndrin e 1400 1000 1000 800 700
32 =] E3n 1400 1000 1000 800 700
33 E B R £ 1400 | 1000 1000 800 700
34 KT ¥ 5T 1400 1000 1000 800 700



B — | T ]
K
B | REFRME | e |NROC\iErE| Wk | me | 4eE
= ’Eﬁﬁé’ﬁ £% | 1400 | 1000 | 1000 | 80 700
2 £JTT 1400 1000 1000 800 700
37 id= A2 £7 1400 1000 | 1000 800 700
38 ’Eﬁ £TT 1400 1000 1000 800 700
39 5T £ 1400 1000 1000 800 700
40 e H Ath B X £ 1400 1000 1000 800 700
= EH
1 EFEH (—FHMEX) RT 2200 2000 2000 1800 1700
2 | EHE (ZHK) £ 2200 1900 1900 1700 1600
3 ngEx i 2700 2200 2200 2000 1800
1 AT £ 2000 1800 1800 1600 1400
5 B £T 2000 1800 1800 1600 1400
6 ot =t £ 2000 1800 1800 1600 1400
7 B 7 2000 1800 1800 1600 1400
8 B £ 2000 1800 1800 1600 1400
9 B ELAZR N £ 2000 1800 1800 1600 1400
10 PR I X£TC 2000 1800 1800 1600 1400
11 e EJT 2000 1800 1800 1600 1400
12 ZHEH £JTT 2000 1800 1800 1600 1400
13 SHFE RTT 2000 1800 1800 1600 1400
14 FEm EJT 2000 1800 1800 1600 1400
15 HEE £t 2000 1800 1800 1600 1400
16 EEREEEXR %53 | 2000 1800 1800 1600 1400
It [
1 HE (—EHX) R 1600 1350 1350 1150 1000
2 EE (X)) REE 1600 1200 1200 1000 900
3 EH BX T 1850 1350 1350 1250 1050
4 EE Kk 7T 1850 1350 1350 1250 1050
5 B= KK T 1850 1350 1350 1250 1050
6 Bt B MK JG 1850 1350 1350 1250 1050
(s FHE [ 1850 1350 1350 1250 1050
8 FIR= KK T 1850 1350 1350 1250 1050
9 B8 b ] Kk G 1850 1350 1350 1250 1050
10 B AF BXJT 1850 1350 1350 1050 850
11 i KT 1850 1350 1350 1050 850
12 HWEF BRIT 1850 1350 1350 _ 1050 850
13 i1 RX T 1850 1350 1350 | 1050 850
14 e FRIT 1850 1350 1350 1050 850
15 O E b [ m 1850 =0
T s o 1350 1350 | 1050 850
i e T 1850 1350 1350 | 1250 1050
= . [ m 1850 1350 1350 | 1050 850
19 LB 18000 15000 | 15000 | 12500 10500
bav 3 Bl 13000 | 10500 | 10500 000
20 | HRER e | 14 10500 ——3000_ 1 B3 —
000 ] 12500 | 12500 | 10500 8500




FE | mEAAK | ma | NEER ppes) sx | mr: | ane
2L e HE | 2550 | 2100 | 2100 | 1950 1750
22 = e 1500 | 1200 | 1200 1000 800
23 i) £ 1500 | 1200 | 1200 | 1000 800
24 ki) X7 | 1500 | 1200 | 1200 | 1000 800
25 it g oLl AL | 1500 | 1200 | 1200 | 1000 800
26 EWRT R 1200 900 900 800 700
27 DT Bk T 1200 900 900 800 700
28 37 g 55 BX 7T 1200 900 900 800 700
29 RINFI I FRIG 1200 900 900 800 700
30 i 4 FR TG 1200 900 900 800 700
31 ZORTW Kk Ju 1200 900 900 800 700
32 =P8 KT 1200 900 900 800 700
33 SRS KK TG 1200 900 900 800 700
34 AR Rk T 1200 900 900 800 700
o F/RE BT [ 1200 900 900 800 700
36 BE BX T 1200 900 900 800 700
37 =1 KK T 1200 900 900 800 700
38 BZ EJTT 1800 1600 1600 1300 1100
39 5= E7T 1600 1400 1400 1100 900
40 B&% £ 1600 1400 1400 1100 900
41 BB ETT 1400 1100 1100 900 700
42 BEIRZ B E£IT 1400 1100 1100 900 700
43 TERET %7t 1400 1100 1100 900 700
44 FlFEFEIE =T 1400 1100 1100 900 700
45 re B ve BT H EJIT 1400 1100 1100 900 700
46 B wiiie E£J 1400 1100 1100 900 700
47 R E AT £ 1400 1100 1100 900 700
48 RS8R £JT 1400 1100 1100 900 700
49 5225w inis EIT 1400 1100 1100 900 700
Bl W#

1 HA& Hix 210000 | 170000 | 170000 [ 160000 140000
2 i E EIT 2100 1600 1600 1350 1150
3 F 3 F 2400 2200 2200 2100 1900
4 PLEE 51 £70 2400 2000 2000 1700 1600
5 R EE B £ 2400 2000 2000 1700 1600
6 EHR £ 2400 2000 2000 1700 1600
7 BB E75 2400 2000 2000 1700 1600
8 S el GEORE] £t 2400 2000 2000 1700 1600
9 2= E N 1400 1000 1000 800 700
10 S B £ 1400 1000 1000 800 700
11 12 <2 £ 1400 1000 1000 800 700
12 FHEE £ 1400 1000 1000 800 700
13 it E5T 1400 1000 1000 800 700
14 LRA T FEIL 1400 1000 1000 800 700
15 Ea Xt 1400 1000 1000 800 700




BEH R

Fs E X Rk X i p WH¥E dt i+ R4
16 oyl A £5T 1400 1000 1000 800 700
17 g X5 1400 1000 1000 800 700
18 JEYA/R e 1400 1000 1000 800 700
13 HE=F e 1400 1000 1000 800 700
20 THE £7T 1400 1000 1000 800 700
21 SR E %5 1400 1000 1000 800 700
22 7 £ 1400 1000 1000 | . 800 700
23 R EA £ 1400 1000 1000 800 700
24 ENEE £TT 1400 1000 1000 800 700
25 ENEEAT £ 1400 1000 1000 800 700
26 218 EIT 1400 1000 1000 800 700
27 e XJT 1400 1000 1000 800 700
28 (S5 £ 1400 1000 1000 800 700
29 Ak £JTT 1400 1000 1000 800 700
30 RIEE ETT 1400 1000 1000 800 700
31 EEH X7 1400 1000 1000 800 700
32 Y AN £TT 1400 1000 1000 800 700
33 BEh £JT 1400 1000 1000 800 700
34 3 £ 1400 1000 1000 800 700
35 2 it E£IT 1400 1000 1000 800 700
36 P 3 HoAth B 5% xJT 1400 1000 1000 800 700




